28

28

28

90

14



1000mg/kg/day

1000mg/kg/day

28



Na K CI

Ca

20



OECD

90

408

I+

20



14

1000 mg/kg/day

14

28

10

1000 mg/kg/day

13

14
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26

14

20

19

24

13



Cl

13

20

Ca

Na






10

12

13

13
13

10

13

13

10

10



14

1000 mg/kg/day

28

14

1000 mg/kg/day

13



26

14

13

19

24



13

14

20

20

13



(1)
(2)
(3)

10

12

13

13
13
13

(Salmonella typhimurium)TA98
TA100
TA1535

13

10

10



(4)
)

DNA

TA1537 TA97
(Escherichia colh)\WP2 uvrA
TA102

WpP2 WP2/pKM101
5,6-
9,000><g (S9)
S9mix S9 5 30 10
5
5mg/plate
37 48 72

TA97a
WP2 uvrAlIpKM101

TA102



1.5

modal number

15

9,000 > g S9
1 10 1

2 3

2mg/mL  2pL/mL

RICC

RICC RPD MI

50

CHL/IU CHO

1.5
S9mix
DMSO
CMC
10mM
RPD
MI
50 60
40

S9



60

2mg/mL 2pL/mL
50

I+
N

a)

b)

%

10mM

300

50



MI:Mitotic Index
Ml %

><100

RICC: Relative Increase Cell Count

RPD:Relative Population Doubling

RICC %
( ( - )
RPD % ( ) ><100
( )
PD: Population Doubling log =
=+ log 2
L5178Y
TK
L5178Y tk*--3.7.2¢c
TK
3 4
24
5,6-
9,000 x g
S9 mix S9 1 10

=100

S9



Growth; RTG 10 20%
2mg/mL 2 pulL/mL

80
2
SC
LC
1/4
SC
1/4
Growth; RSG

TFT 2,000 Iwell

DMSO

Relative Total
80%
10 mM
1
LC
48
Relative Suspension
96



TFT

GEF

GEF

LC

small colony SC

>200 x 10°°

96 1.6
96 10 14

Iwell

Global Evaluation Factor; GEF

126 x 10°®
GEF
SC
MF (x10° SC
RSG RTG
2 large colony LC
SC
SC
TK



2 RSG
RCE RTG
RTG RSG RCE %
RSG 1 SG1 0 1
0 2 SG2 1
2 1 RSG
SG SG1 < SG2
RSG= [SG1( ) < SG2 1/ [SGA( ) < SG2
SG1
RCE
RTG RSG
RTG RTG RSG>=RCE
[a] 3-
1 2
4
1 2
96 P
P=-1n Ew Tw
Ew: Empty Well
Tw: Total Well
i.
CEv =-1n EWMm TWy /NM
EWwm
TWwm
Nm 1 2000

RCE



CEy =-1n EWv TWy /Nv
EWy
TWy

Nv 1

iii. MF
MF=CEm CEv

SC SC
SC SC
/

1.6





